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PROBLEM THIRTY-EIGHT: The Alert Driver: A man and his family were 

driving through a small rural community in Queen Creek, Arizona in search 
of work. The man had been unemployed for several months and was driving 
a 26 year old station wagon that had defective headlights because the 
on/off switch was broken. A black dog was standing in the middle of an 
intersection with a large black billboard behind it. None of the street lights 
are working due to a power failure caused by an earlier storm and there was 
no moon. The man was able to swerve in time to avoid hitting the dog. How 
could the driver have seen the dog in time to avoid a collision? 
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